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Real Champs
Deepali Rajlani 4hours ago Ajaya kumar 21 hours ago
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Mohit.. 21 hours ago

thank-you Sir for today’s Amazing Class Session... 4
My Answers for today's homework are like-

1). 98.

2). 114

). 139,

700
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i |

Thank-you So much Sir ji.. (22
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If the last digit of any numberis 2, 3, 7, 8 then the number will not be
the perfect square.

gfe fonelt gwar & 3ifad 3% 2, 3, 7, 8 & df ag T&AT qur
gar gl g )
The number will be a perfect square if the digital sum of the number s
1,4,7,9.

lawarmmﬂ1 4,7,9 ¢ dl 9g §&I1 qUT 9

If a number is perfect square then the last two digits of that number
will be same as the square of the last two digit between 1 to 25.

TEIT 9UT g47 C 1 25
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Golden Points-

The number will be perfect cube if the digital sum of
the no. will be 1, 8, 9.

HEAT qUT T grell IS HE&AT sl 37hrd T 1,
8, 9 BI3M|
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v 176 +— /2401 is equal to:
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The square root of (272° — 128%)is:
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What is the square root of 0.167
0.16 T IHA T 82
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The value of v 0.000441 is :

1)0.00021
2)0.0021
3)0.021
4)0.21
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By what least number 675 be multiplied to obtain a number which is a
perfect cube?

w%aﬁ%wmﬁ%ﬁ%@ﬁﬁﬁm 6759
UM T dT STy ?
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What is the smallest number by which 3600 be divided to make it a
perfect cube?

dg BICT U BICT T 1 § FSRTY 3600 BT HFT ¢+ R I8 U JU1 99
g SIT?
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lo.0o1 + vVo.0O062 >
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What is the least perfect square number divisible by %,'4,5,6 and 87
3,4,5,6 3R 8 T fAUTT I BT YUl 971 T T B2
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What is the least number by which 294 must be multiplied to make it a

erfect square?
p t%r B! e 1 § FoRIY 294 1 IO HRA WR I8 Ui v o
GITQ?
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What is the least number by which 1470 must be divided to get a number
which is a perfect squ

dg BIci 9 BIc %‘F{%ﬁ%ﬁﬂ@rlmoﬁlﬂﬂﬁwwqﬁaﬁ
G@Tmﬂsﬁr%
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What is the least number which should be subtracted from 0.000326 to
make it a§erfect square?

B! TS DI 4T § fo 0.000326 H  UeTHR qUI a1 &1

1)0.000002
2)0.000016
3)0.0002
4) 0.002




dded in 4090 to make it g perfect square?

foTE I9H I Ut =T SireH1 =nfeu?




dded in 7558 to make it a perfect square?

foTE I9H I Ut =T SireH1 =nfeu?




1)0.03755
2) 0.3375
3)3.275
4)32.75
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—

The value of y0.01 +v0.81 + y1.21 +/0.0009
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